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(b)

Explain differences in fertility between countries or regions. [10]

The question is on fertility and some recognition of actual fertility rates and/or
birth rates should be appreciated for a Level 3 response.

NB. Total fertility rate: the average number of children a woman has
throughout her childbearing years, 15 to 49.
Birth rate: the annual number of births per 1,000 total population.

Suggested approaches

e Using the stages of the demographic transition for selected countries.

o Developing case studies, appropriately focusing on selected countries or
regions.

Any valid alternative strategies should also be accepted.

Some helpful statistics follow.

DTM Region/country TFR BR
World Average 2.5 20

More Developed 1.6 11

Least Developed 4.4 34

Stage 2 | Niger 7.6 50
Angola 6.3 47

Stage 3 | Paraguay 2.9 24
India 2.4 22

Stage4 | UK 2.0 13
Canada 1.6 11

Stage 5 | Germany 1.4 8
Romania 1.4 9

DTM = Demographic Transition Model; TFR = Total Fertility Rate; BR = Birth
Rate

The outline below, using the demographic transition, is given as to suggest a
possible structure for the answer and candidates may achieve full marks by
any other valid route.

Reasons for relatively high fertility in stages 1 and 2 of the demographic
transition:

Children needed to help on the farm.

Children needed as a pension.

Children needed as a health care service.

More children needed to replace those who die young (high infant
mortality e.g. Sierra Leone 128).

Contraception not widely available.

e Contraception not culturally accepted.

Lack of education regarding family planning (high school fees).

Stage 3 countries would have lower fertility due to the following
developments:

o Establishment of medical centres with health checks and vaccinations
against malaria and diarrhoea reducing infant mortality.

e Contraceptive advice available at health centres.

e Education is more affordable with fewer children in the family.

e.g. Total population of India is 1.27 billion. In Kerala, fertility has dropped
from 7 to 1.7 due to:

e Sterilisation of women.





© WJEC CBAC Ltd.

Health care.

Contraceptive advice.

Education on family planning.

High (90%)) literacy rate amongst women.

Education gives women confidence to take control of their own lives.
Economic changes bring stability to society such as a minimum wage,
owning property, the establishment of trade unions to argue for workers’
rights.

Government incentives to reduce fertility by introducing anti-natal policies
such as those practised in China where laws were introduced in 1979 not
allowing more than one child per couple. Recently, some adjustments of the
one child policy have occurred to make it more flexible and less harsh.

Stage 4 and 5 countries have low fertility; some factors encouraging this are:

The baby boomers (1946-1954) have reached pensionable age: by 2021
20% of the population of the UK will be pensioners. Pensioners tend not
to have many babies.

Infant mortality is low, (UK 4.2); so not much pressure to replace those
dying.

The introduction of the pill and other efficient contraceptives since the
1960s has enabled choices about babies to be made.

Many women have chosen to follow a career, delay marriage and delay a
family so giving less time to produce many babies.

People can choose a more materialistic lifestyle instead of babies.
Government incentives to increase fertility by introducing pro-natalist
policies such as those practised in France, Japan, Singapore and Russia,
where some kind of tax and or cash incentive is provided to encourage
procreation together with social changes in maternity and paternity work
patterns.

(Figures from www.prb.org data sheet 2013.)

Allow answers that take a regional approach to define region flexibly, for
example: inner city versus outer suburb; rural versus urban. Also allow credit
for good responses that look at factors such as the role of women, education
levels, nutrition etc.

Level 3 Good knowledge and understanding of why there are

8-10 marks differences in fertility between countries or regions. Good
development of examples.

Level 2 Some knowledge and understanding of why there are

4-7 marks differences in fertility between countries or regions.
Examples are evident and enhance the explanation.

Level 1 Basic knowledge and understanding of why there are

0-3marks differences in fertility between countries or regions.

Little use of examples.




http://www.prb.org/
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jamess

Sticky Note

The concept of attempting to draw a location map just to demonstrate the position of a country is not credit worthy and wastes time.



jamess

Sticky Note

6.1 what? This needs a qualification of what 6.1 means. Also the birth rate needs a definition (per thousand what?) and an effort to distinguish it from the total fertility rate. The 3.1 is correct maths, given the figures provided, but again 3.1 what? So insufficient attention to detail.



jamess

Sticky Note

As a setting-the-scene introduction it simply provides some relevant statistical information which is credit worthy.




jamess

Sticky Note

The question is not about total population growth but fertility differences.
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jamess

Sticky Note

Drawn accurately this would be relevant, particularly if contrasting birth rates for specific areas were located on it. As it is, it merely provides general background information.




jamess

Sticky Note

Yes, a correct reason for higher fertility, but merely briefly stated and not developed.




jamess

Sticky Note

Again, simply some relevant knowledge from which to launch an extension of the answer.




jamess

Sticky Note

The question has not been answered except for one basic, shallow comment with no development. The answer simply comprises statistical knowledge, which deserves some  credit.




jamess

Sticky Note

Level 1
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jamess

Sticky Note

No real introduction. The China example is relevant, but there is no detail or development here.



jamess

Sticky Note

7 what? A contextual definition is required. 




jamess

Sticky Note

Here some background is developed on how China's fertility is now lower than it was. This is relevant.



jamess

Sticky Note

Statements are not linked to core reasons and beg the question as to why Gambia has little access to contraception and why its infant mortality rate is high.
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jamess

Sticky Note

A continuation of the one child policy information.




jamess

Sticky Note

Too much focus on why China's fertility has changed rather than a broader view of reasons for fertility variation. So rather restricted in outlook, but not incorrect.
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jamess

Sticky Note

The beginning demonstrates clearly that the candidate appreciates the question and defines terms accurately.



jamess

Sticky Note

The diagram is reasonably accurate and has located two contrasting countries .
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Sticky Note

0.4 what?
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Sticky Note

A competent and knowledgeable beginning which is essentially relevant and  scene setting with good accurate statistical evidence.
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Sticky Note

Straight to the core reason which drives most of the rest of the reasons.
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Sticky Note

A very detailed account of how a lack of economic development leads to low level healthcare which leads to higher infant mortality which leads to higher fertility. A well linked and argued section with very good knowledge. 
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Sticky Note

A  second economic reason for fertility variations.
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Sticky Note

Now the candidate tackles social reasons with the same high authority as the economic ones.
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Sticky Note

This statistic needs a definition.
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Sticky Note

This is a clear level 3. It is well written, logical, full of accurate revised information and there is a total understanding of the question. This candidate has produced an integrated response based on reasons for fertility variation. This is a minority approach, the majority of answers simply gave two separate accounts within two contrasting areas where the chance of repetition and inverse comments is higher. 











G2 - CHANGING HUMAN ENVIRONMENTS
Answer all questions.

Make the fullest possible use of examples in support of your answers.

Figure 1: Population structure of China in 2012
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Source: adapted from CIA World Factbook 2013

© WJEC CBAC Ltd. (1202-01)





(b)

Explain differences in fertility between countries or regions.

© WJEC CBAC Ltd. (1202-01)

[10]

Turn over.
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Describe attempts to maintain a vibrant CBD. [10]

In recent years CBDs have had to re-invent themselves to adapt to pressures:
e Competition from out-of-town developments

o Competition from the Internet

e Economic downturn in a recession

Suggestions

¢ Some CBDs have completely redeveloped with large new-build schemes
incorporating leisure complexes and transport hubs.

e There has been much ‘beautification’ of the street environment with more
pedestrianisation, flowers, fountains, hanging baskets and fancy lighting.

¢ CBD managers have been appointed to encourage events and attractions
to draw people back to the CBD such as arranging street entertainers and
late night shopping.

o Park and ride schemes have been introduced to encourage easier access
than driving and parking in the CBD.

e Pop-up shops have been encouraged to rent empty shops for a short
while.

e Growth of residential development, for example young professional and
student apartments; the growth of the 24 hour city.

The function of CBDs has changed from one where retailing of goods was
paramount to one where the CBD is seen as more of a recreation day out
with a growing number of cafes, restaurants, cinemas pubs and clubs. So,
many CBDs now have well-developed entertainment districts with, overall,
less retailing space. The retailing space that remains has to work hard to
maintain customers and profits due to the many afore mentioned pressures.

Answers could ideally select one or more of the themes above and describe,
by using one or more case studies, how CBDs have adapted to change.

The specification concentrates on retailing in CBDs, but changes in the CBD
are often multipurpose, incorporating leisure and recreation functions as well
as retailing.

As well as an answer entirely focusing on retailing, allow a broader answer
incorporating all CBD changes, as such changes will have an impact on
retailing either directly or indirectly and help to maintain a vibrant CBD.

The question requires description; so long explanations should not be
generously awarded.

Level 3 Good knowledge and understanding used to describe attempts to
8-10 marks | maintain a vibrant CBD. Good development of example(s).

Some knowledge and understanding in order to describe attempts

Level2 | {5 maintain a vibrant CBD. Example(s) are evident and enhance
4-7 marks —
the description.
Level 1 Basic knowledge and understanding in order to describe attempts

0-3marks | to maintain a vibrant CBD. Little use of example(s).
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Sticky Note

First sentence is not expressed well.
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Sticky Note

Some locational confusion here. A vague statement about a canal in the CBD. Confusing the NEC, a fringe development, with perhaps the NIA, now Barclaycard Arena. Also the area in which the ICC and Barclaycard Arena and canal(s) are located was originally inner city, but with redevelopment the CBD may be said to have expanded to incorporate these relatively new functions and facilities. So the area is acceptable as a case study for this question. The answer so far, however, does not instil confidence that the candidate is very aware of the case study detail.
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Sticky Note

A very superficial introduction of the Bullring redevelopment with little specific information.
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Sticky Note

Nothing here specific to Liverpool, could apply to 'any' CBD.
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Sticky Note

The docks are not CBD so are not relevant to the question. Including redeveloped inner city dockland areas  was a very common error which was made by a large number of candidates.
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jamess

Sticky Note

This case study example is a  good one to use.




jamess

Sticky Note

Who are they? And a 'throwaway' comment about tourism. No description of any attempts yet.




jamess

Sticky Note

This information is padding and not too relevant.
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Sticky Note

What is the Rotunda?



jamess

Sticky Note

Superficial and generalised comments with little specific detail.




jamess

Sticky Note

A relatively short response. It's located well, but provides very little hard evidence of any specific descriptions of how the CBD has attempted to maintain its vibrancy. 
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RichardR

Sticky Note

The first sentence is good. It locates the case study and repeats the question which hopefully will lock the answer directly to the question.



RichardR

Sticky Note

This elaborated discussion of a Park and Ride scheme is very rare, but very good and appropriate. It contains real locations, real information of cost and the implication for CBD vibrancy.



RichardR

Sticky Note

The new paragraph begins with a reference to the question, keeping the answer and reader on track.



RichardR

Sticky Note

This level of detail is rare, but what is necessary to fully develop a description of a real attempt to maintain CBD vibrancy.



RichardR

Typewritten Text

 



RichardR

Typewritten Text
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RichardR

Sticky Note

A justification of change here, it's useful and has not been over elaborated or made the focus of the answer which was common in many other responses.



RichardR

Sticky Note

Another good example of an attempt to maintain vibrancy.



RichardR

Sticky Note

A second very relevant example. 



RichardR

Sticky Note

Drifts a little into justification rather than description.



RichardR

Sticky Note

The Bullring example in descriptive terms is shallow, and justification takes over, but there is still some descriptive detail of a real attempt to maintain the vibrancy of the CBD.



RichardR

Sticky Note

The answer is clear, precise and logical. The candidate fully appreciates the question, although dwells on justification a little too much in places. Nevertheless, a very knowledgeable account with well developed specific information.



RichardR

Typewritten Text

LEVEL 3
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(c) Describe attempts to maintain a vibrant CBD. [10]

© WJEC CBAC Ltd. (1202-01) Turn over.
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(c)

© WJEC CBAC Ltd.

Describe how you collected information for your investigation into a
changing human environment. [10]

You should state clearly the question that you have investigated.

Marking will depend on the quality of response and must be adjusted to suit
individual studies presented.

An expectation would be a variety of ways in which information has been
collected. However, one intensive description of one collection method, such
as a questionnaire, would be acceptable for a Level 3 mark.

Primary information collection

e May involve personal observation in the field such as environmental
guality surveys, traffic counts and questionnaires.

¢ Primary data can be regarded as being deprived from websites in its raw
form as a table of statistics or a map; then the figures in the table are
subjected to statistical manipulation and the map is simplified and/or
annotated.

Secondary information collection

e This can be acquired from published sources such as books, directories,
maps journals, newspapers and websites. Names of websites and what
information was derived are required for the more intensive description.

A research investigation would not require the elements involved in primary
fieldwork collection, but an intensive description of the secondary resources
used would be required, including the names of websites and what
information was derived.

Credit highly any valuable, positive and geographically appropriate comments
within the context of a valid geographical enquiry.

Credit with caution simplistic, self-evident, generalised and vague comments.

Level 3 Developed knowledge and understanding of how information
8-10 marks | was collected. Good development using the context of the
investigation

Level 2 Competent knowledge and understanding of how
4-7 marks | information was collected. Some development using the
context of the investigation.

Level 1 Basic knowledge and/or understanding of how information
0-3marks was collected. Basic development using generic and
generalised concepts of information collected.
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jamess

Sticky Note

Title is appropriate.



jamess

Sticky Note

The first paragraph contains sub-hypotheses and locations. Considering time constraints, perhaps it may have been more efficient to incorporate this information into the main body of the answer. No specific credit is available for stating the enquiry title and/or aims, but there would be some credit for locational description. 




jamess

Sticky Note

This paragraph is not relevant as it is part of the planning process and not the collection of information.




jamess

Sticky Note

A very sudden statement regarding questionnaires. There is no information about what the questions are, how the distribution of the questionnaires occurred, or when. No consideration of sampling. What does systematic mean?




jamess

Sticky Note

Again, planning information.




jamess

Sticky Note

Part of planning, to acquire the necessary equipment.




jamess

Sticky Note

The naming of web-sites is good, but there is no mention of the data obtained nor how such data was transferred into the candidate's enquiry.




jamess

Sticky Note

Very limited descriptive information on any fieldwork method of collecting data. Really just a vague reference to a questionnaire with scant detail. The remainder of the answer was concerned with planning issues and a long introduction most of which was not credit worthy.
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jamess

Sticky Note

A rather abrupt beginning which needs qualifying. Define services. Where did this happen, when, how long did it take, how was the information recorded? This is the type of  information required and used to describe how information was collected for the enquiry.




jamess

Sticky Note

These aspects of the study would come under the heading of planning and not information collection.




jamess

Sticky Note

Still have no idea where this study took place, or when.




jamess

Sticky Note

Specific information about how the environmental survey was carried out is required. 




jamess

Sticky Note

Some more descriptive detail occurs here.




jamess

Sticky Note

What is a rurality test and how was it conducted?
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jamess

Sticky Note

Here we have some descriptive detail of what a rurality test involves. This is relevant.




jamess

Sticky Note

Another collection method briefly described



jamess

Sticky Note

Far more detail is required here such as web-site names and exactly the type of information accessed and how that information was transferred from the Internet.




jamess

Sticky Note

The range of methods employed has provided the majority of the credit. A lack of precision regarding location and a lack of developed descriptive detail on exactly how information was collected has reduced the potential of the answer. There is also some drift into planning.
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jamess

Sticky Note

Clear and appropriate title.



jamess

Sticky Note

So far an impressive start. The geographical terminology is accurate and the quality of written communication is very good. The detail of description is commendable.
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jamess

Sticky Note

Clearly understands fieldwork techniques and language.




jamess

Sticky Note

Very clear, this is what most answers neglect to include.
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Sticky Note

Again, a detailed description of exactly how a traffic survey was conducted including justifying/describing the  locations.
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jamess

Sticky Note

A chewing gum survey and a traffic survey, both described logically and clearly using appropriate geographical terminology. Avoided drift into other aspects of fieldwork.











Figure 3: Brandon Shopping Centre, Motherwell, Scotland, 2010
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Source: adapted from http://www.brandonshoppingcentre
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(c) Describe how you collected information for your investigation into a changing human
environment.

You should state clearly the question that you have investigated. [10]
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